Strand 5 Multiple Choice Questions

1. Which of the following is not a means by which meiosis contributes to the genetic variability of organisms.

A. Crossing over of homologous chromosomes during meiosis

B. Random fertilization of egg and sperm cell

C. Independent assortment of homologous chromosomes during meiosis

D. Meiosis in body cells throughout an organism. 
Cystic Fibrosis
Cystic fibrosis (CF) is a condition characterized by difficulty in breathing and digestion. CF is caused by a defect in a specific gene. The pedigree diagram below shows the inheritance pattern of cystic fibrosis in two generations of a family.

[image: image1.png]O

9 10

KEY

e=emO

unaffected male
unaffected female
affected male
affected female
healthy male carrier

healthy female carrier





2. Which couple has a 25% probability of producing offspring who are homozygous for cystic fibrosis?

A. 3 and 4

B. 5 and 6

C. 7 and 8

D. 9 and 10

3. An individual with CF is not able to transmit the disease by physical contact 

because _____________.


A. the gene for the disorder is only carried in the bloodstream


B. CF is a genetic disorder and can only be passed from parent to offspring


C. the bacteria that transmit the defective gene must be inherited from a   

               parent


D. CF is so rare that the probability of coming into contact with an affected 

               individual is low
4. What type of inheritance pattern is associated with CF?   
A. Incomplete dominance 

B. X-linked (sex-linked) inheritance

C. Recessive/dominant inheritance

D. Dihybrid dominant
5. An individual with the flu is able to transmit the disease to another person because
A. the flu is an infectious disease, not a genetic disease

B. like CF, the flu is a genetic disorder and can only be passed from parent to offspring

C. the flue is so rare that the probability of coming into contact with an affected individual is very low

D. the gene for the flu is carried on the X chromosome
6. Two farmers plant different varieties of corn on neighboring farms. Farmer A plants genetically modified corn. Farmer B plants a non-modified variety of corn. What would be farmer B’s primary concern if she plans to gather seed for next year’s crop?

A. Loss of genetic variability in the non-modified variety

B. That mutation rates will increase in the non-modified variety  
C. That insects will only pollinate the genetically modified corn 

D. Unintended transfer of modified genes to her crop by cross-pollination
Fossil Record
The diagram below shows the fossil record of different species.
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7. When did a major extinction event most likely occur?

A. at the end of the Cenozoic

B. at the end of the Permian

C. at the beginning of the Silurian

D. at the beginning of the Cambrian
8. According to the records of fossil species V and W, which statement is most likely true?
A. Fossil species W appeared before fossil species V, allowing fossil species W to  

     survive longer.

B. Fossil species W was ancestral to fossil species V because it appeared before fossil 

     species V.

C. Fossil species W had greater genetic variability than fossil species V, allowing fossil 

     species W to adapt and survive longer.

D. Fossil species W had lower reproductive success than fossil species V, allowing 

     smaller populations to adapt and survive.

9. Vestigial structures, such as hip bones in whales and appendixes in humans, are those that have little or no function for the organism. What is the most likely reason for this loss of function over time?
A. The organism is undergoing speciation.

B. The organism is experiencing a high mutation rate.
C. The structure was over utilized by the organism.

D. The structure was not highly beneficial to the organism.

10. Which of the following is a structural adaptation that would least likely help frogs survive in a pond?

A. Larger webbing on the feet

B. Increased strength of leg muscles

C. Increased green color on the back of the frog. 
D. Increased white color on the back of the frog.

11. Which of the following factors least affects the carrying capacity of an animal population

A. Food supply

B. Predator population
C. Diseases that weaken or kill members of the population
D. Life span of males and females in the population
12. The growth rate of a local population is dependent on the birth rate minus the death rate and____________.

A. the ratio of males to females in the population

B. the lifespan of females beyond the reproductive age

C. the amount of genetic variation that exists in the population

D. the immigration and emigration of individuals to and from the population
13.  The age structure diagram for a stable and slow growing country is shaped like a
A. Pyramid

B. Box

C. Diamond

D. Triangle

14. The age structure diagram for a country with negative population growth is shaped like a 

A. Pyramid

B. Box

C. Diamond

D. Triangle

